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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsory.

2) 
��	
��	�������	 !	�
All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�
Write the answer to each question in the given answer-book only.

4) �,�	
����	��	��-�.���	�/01	 !2	#�	
��	���	#$��	3��	
��	 �	�����
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) 
��	��	���	� -%�	�	��&�4,�	5��-��	��	���
�	
����	��6	�)�71	/	�-��	/ �����8���
	 ����	��	� -%�
��9�	���	
��	����	 �	
 �	�����
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) i) � 	
��	��	%��	�/01��	��	���;�	 <	(	�	��<�	=�
ii) �/01	>�?	
��	@1����	���	��3	�������	 <�
iii) �/01	>=?	���	%��	��&	 !2	
"����	��&	��	
��	
��	 !�	�������	����	���
�	3��	��&	���	
��	
��


����	����	 �	�����	 <�
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) �/01 
��	
�A�� ����	
"����	
��

� 1-8 1
9-14 2

15-21 4
22-23 6

= 24-25 1
26-27 2
28-29 4

30 6
����

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question
A 1-8 1

9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) 
��	
�A��	22	B�/01(�C	���	30 	B�/01(=C	��	��-�.���	����D�	 !�

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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SECTION - A

1) ��������	�
���
������������������
�����������������������
������

Why does pay a new partner, the amount of goodwill to the firm? [1]

2) ����������	�
�������
����� !������"�#���
���$
�%���&��'� ��$��������#������������(�������

Why does gaining ratio calculate at retirement of any partner from the firm? [1]

3) � 	)����*���������+,-����!!
#�
���������	.����(�������

How does calls in arrear show in the Balance-Sheet? [1]

4)  /�0�
��1!/�2�#�$3�0�
��
������4��1��� 5�
��%.��6

Write any one difference between share holder and debenture holder. [1]

5) &�����1!/���!���1�����
��
������	�
��76�85���������!��������¼����������%1���������	�
�9����6
&�����1!/���!�������:�������� ��$���;�����
��6

Pratibha and Savita are partners in a firm. They admitted Kavita as a new partner
for ¼th share. Find out the sacrificing ratio of Pratibha and Savita. [1]

6)  <�9� ��
���%�������������2 : 3 : 4����� ��$���
��9�=>?����@1�1�����
��
������	�
��76���
������$�,�����

��36,000�A�B����������.�����!C
�����6�����
����� !������"�#���
�����6�������.��������
 $�%�.����
�������&�!�D?���
��6

A, B and C are partners in a firm sharing profit & loss in 2 : 3 : 4 ratio. Goodwill
account is appearing at a value of �36,000 in the books of firm. C takes retirement
from the firm. Pass entry to write off the goodwill account. [1]

[Turn Over
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7) ��
�������
�$��$
�1��� �%�.���E$+:��2,000�A�B�����-�<��(���1�������	�
����2,500 A�B�
�/�%�
�%��6�(��%�&�!�D?���
��6

On dissolution of a firm there was an unrecorded asset of �2,000 which was
taken over by a partner at �2,500. Pass Journal entry. [1]

8) 
���������1,000��
��� /����$
�9/>?��
����3�A�B�&��� �/������������&-
�!� +5�
�
�/��������-
4 
���9�	������6���E$�������$�,������
��F��(�����&�!�D?���
#�� ����� ����
���
��6

Mohit paid allotment money @�3 per share on 1,000 equity shares with first
and final call after 4 months. Record entry of interest in the books of company
according to table 'A'. [1]

9) 1��� ��
�!�4��1�����
��
������	�
��76�8�����,-����$G/(���"�
�H�2,00,000 A�B�1!/�3,00,000 A�B
��6�*�%G�!I������ 5��
��!��10%�����!��I����	
����$G/(��$
�F��(�%������G%����6�8$
��J�������%1
 �%��!I������&-
��	��1����
����(��&�!�D?���
��6

x and y are partners in a firm. Their fixed capital are �2,00,000 and �3,00,000
respectively. They forgot to charge interest on capital @10% p.a. at the end of
the current year. Pass one adjustment entry on first day of the next year. [2]

10) $�� ��
���G�����	�
��7�(���%��������2 : 1����� ��$���
��9�=>?����76�85������ �
��������
��
������	�

9����6����� ��$���9
�9
������6� �
�$G/(������20,000�A�B�1!/�����������10,000�A�B����	�%����
��
������$�,������
�� �!K����(��%�&�!�D?��/L�����(��6

p and q are partners sharing profits and losses in the ratio of  2 : 1. They admitted
'R' as a partner in the firm. New ratio will be equal. R brings in cash �20,000, as
capital and �10,000 as goodwill. Pass necessary journal entries in the books of
the firm. [2]
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11)  <�9� ��
���1�����
��
������	�
�-�6� +5�
�.����&��!I��31 �	�E9
������9�����(������6�*�%G�!I�

��30 (G���������������
M:����������6�
M��������	�
������%���
����,������!I������ �0�
�$
��	���(���
��6����!I��
����
������%���36,000 A�B�-�6�
M:����������-�������������%���������,��������#�����
��
�-��4�����(��%�
�� �!K����&�!�D?���
��6

A B and C were partners in a firm. Final Accounts are prepared on 31st December
every year. C died on 30th June in the current year. Deceased partner's share of
profit is calculated on the basis of last year's profit. Last year's profit of firm was
�36,000. Calculate C's share of profit till date of death and record necessary
Journal entry for this. [2]

12) ��
�������
�$��$
��%��	�
�50,000 A�B�$G/(��1,50,000 A� 1!/����	�
����10,000 A�B�-�6��!�!0
�E$�)��������1,30,000 A�B�!�G%��@16�!�G%�����������1!/��!�!0��E$�)���������
GN�������#�����
��6

On dissolution of a firm creditors were �50,000 capital was �1,50,000 and cash
balance was �10,000. �1,30,000 realised from sundry assets.

Calculate the amount of sundry assets and loss on realisation. [2]

13)  /�������� ���$������9/>?������ -���%.��6

Write the meaning of 'Pro-rata' allotment. [2]

14) 1�����E$������
��������1���
����.
�	�6���E$������
�����������������
��1,000 A�B�!�%��100- 8%
2�#$3�10% &�
��
�$
�(�
�������6� �!K����(��%�&�!�D?��/L�����(��6

A company purchased one machine from Mohan. The company issued 100-8%
Debentures of �1,000 each @ 10%  premium to Mohan.

Pass necessary journal entries. [2]

15) ����	�
������ -���%�.���1!/�4��������5���2 �!��I�� �������!#�����
��6

Write the meaning of partnership and describe any two characteristics of its. [4]

 [Turn Over
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16) 9������
�/��1!/� ��"
�&�'�
�/��
������4��*�
� 5�
��%.���

Write any four distinction between calls in arrear and calls in Advance. [4]

17) 1���!�4�� ��
�(�OP?�1�����
��
������	�
��76�1� &�%�2015 �����8�����$G/(��.�����������I��"�
�H
50,000 A�B<�40,000 A�B<�1!/�10,000 A�B�-�6�����	�
���/%�.�
�����Q�!,-����R

1) (�OP?������5,000 A�B�!���������"��P?>?�������(�����6

2) ��������	�
��������$G/(��$
�F��(�10% !��I�����
%���6

3) ��I�%�����������	�
���
��9
�9
�9�/>?��(�����6

4) 8$
��J���
����(�������$G!����
������%���31 
�*��2016 �����45,000 A�B�-��%�������
�����(��.����9�� ��6

x, y and z are partners in a firm. On 1st April 2015 theirs capital balances were
�� 50,000,  �40,000 and �10,000 respectively. The partnership agreement
provides

1) z shall be credited with a salary of �5,000.

2) 10% per annum interest on capital is given to all partners.

3) The balance of profit would be divided equally in all partners.

4) The profits for the year to 31 March 2016 (before making any provisions for
the above) were �45,000. Prepare profit & loss appropriation Account. [4]

18) ��E���G*������� �0�
�$
���
�������
�$�������
������	�
�����$G/(��.����9�� ��6

$G/(��.����������
���I�20,000 A�B�!�G%��.��������%���
��8���������45,000 A�B<�8������
������
1����E$�)��18,000 A�B�
��.
�	�6

On the basis of following data prepare capital Account of  a partner on dissolution
of the firm:- Debit Balance of capital Account �20,000, share of his profit on
realisation �45,000. He purchased one asset of firm for �18,000. [4]
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19)  �0�M��� �/�$G/(��1!/������
�� �/�$G/(��������
�� ��6
Clarify the Authorised capital and Issued capital. [4]

20) ��E��%�.��	�� ���
��2�#$3�����������
������(��%�&�!�D?��L�	��(��6

i) 2,000-10% 2�#$3�������(�������&:�����100 A�B������������
��5% &�
��
�$
����������
�(��������0���

GN��$
������6

ii) 5,000-12% 2�#$3�������(�������&:�����100 A�B������������
��5% &�
��
�$
����������
�(��������0��10% &�
��
�$
������6

Give Journal entries for the issue of Debentures in the following conditions:

i) Issued 2,000 - 10% debentures of �100 each at a premium 5% redeemable
at par.

ii) Issued 5,000-12% debentures of �100 each at a premium 5%, redeemable
at a premium 10%. [4]

21) ��E���G*�� ��������������
M:���$
���
������$�,������
�/� �!K����(��%�&�!�D?��/L�	��(��6

1)  <�9� ��
���3:2:1 ���� ��$���
�/�%��������9=�>?����@1�����	�
��76

2) $G�
G�N��/����.����������
���I�15,000 A�B�&��>?��@ �6

3) $�,������
�/�������.����12,000 A�B�$
��!C
���-�6

4) ��
�5���/*������
GN��24,000 A�B�-�6

5) ���!I�������*S?��
��%��������.�����E$�)��$T�
��6,000 A�B�-�6
Give necessary journal entries in the books of firm on death of 'C' from the
following informations:

1) A, B and C are partners sharing profits & losses in the ratio of 3 : 2 : 1.

2) Revaluation Account disclosed �15,000 (Debit).

3) Goodwill  Account �12,000 was shown in the books.

4) The value of General Reserve was �24,000.

5) �6,000 of profit & loss account  was in Assets side of last year Balance
sheet. [4]

 [Turn Over
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22)  � ��
�9�3:2 ���� ��$���
��%��������9�/>?����@1�����	�
���6

1  &�%�2016 �����8������*>U?V?����E��&���
���H

� �

%��	�
 30,000 
����P? 2,000

$G/(��.��� 	��	�
 25,000

 50,000 –  ����(� 3,000 22,000

9 40,000 ,��50 28,000

���W*
 18,000

�!� 50,000

1,20,000 1,20,000

1  &�%�2016 �����85���������������E�����X�$
�����	�
�9����6

1) �� $���$G/(��1!/������������"�
�H�50,000 A�B�1!/�10,000 A�B����	�%�����6

2) ����%�������� ��$���2:2:1 �����6

3) �/�	Y0�2�#� ����(�������1,000 A�B�����Z>?����(���6

4) ,>?��������$��
��N��/����25,000 A�B��-���!������$G�
G�N��/����60,000 A�B�������(���6

5) ��������	�
�����$G/(������ �0�
�$
���
������$/G(�������
����(��$�
��������	�
���[�
�����	���
������(���6

$G�
�GN��/����.����$G/(��.�����-��������
�������*S?��9��4��6

 -!�
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1���!�4�� ��
�(�P?�����	�
��
��%��\�����5:3:2  ��$���
��9�=>??�����6�85����������	�
����
�����
�!Z>?��������K*����������!Z>?���������-�$
�%��	�
�26,200 A�B���� ��
��!Z>?������	��
��
2,500 A�B�����1����E���!��	��	�
�����(���$�,������
�������	.�����4��$]
$�!��������� ��

4��������������
��������6�8�����$G/(���"�
�H�18,000 A�B�10,000 A�B�1!/�12,000 A�B���6
!�4�����$G/(������ ��]
J����
�������13,800 A�B�80�
�	��
.���/�6��E$�)��������86,000 A��&�'��@16
!�G%��.����1!/�!�4������2�#�.��������
���
��6

A and B are partners sharing profits & losses in the ratio of 3:2. On 1st April
2016 their Balance Sheet is as follows:

� �

Creditors 30,000 Cash 2,000

Capital A/c Debtors 25,000

A 50,000 – Provision 3,000 22,000

B 40,000 Stock 28,000

Furniture 18,000

Building 50,000

1,20,000 1,20,000

On 1st April 2016 they admitted C on following terms.

1)  C will bring cash for capital and Goodwill �50,000 and �10,000 respectively.

2) New profit & loss ratio will be 2 : 2 : 1.

3) Provision for Doubtful debts be reduced upto �1,000.

4) The stock be revalued at �25,000 and Building be revalued at �60,000.

5)  On the basis of New partner's capital, the firm capital to be adjusted in cash
by old partners. Prepare revaluation account, Capitals Account and Balance
Sheet of New firm.  [6]

OR

[Turn Over
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x, y and z are in partnership sharing profit & loss in 5 : 3 : 2. They decided to
dissolve the partnership firm at the date of dissolution their creditors amounted
to �26,200 and in the course of dissolution a contingent liability of �2,500 not
brought into the accounts matured and had to be met. Their capitals stood at
�18,000, �10,000 and �12,000respectively. y had lent to the firm in addition
to capital �13,800 the assets realised �86,000.

Prepare  the realisation Account and y's loan Account. [6]

23)  �
����%�
>?�P?����100 A�B�!�%��20,000 �
��� �/�5% &�
��
�$
�(�
��������(���4��&���
�	��
-�� �!�	��$
�40 A�B�&��� �/�&�
��
�����<� �!/>?��$
�30 A�B�&��� �/<���I�
����&-
�1!/
 +5�
�
/���$
�45,000  /���������%1� �!�	�� ���6�5,000  /�������� �!�	����������9/>?�����������
���6���I� �!�	�����������-���$���9/>?�������6� �!�	��$3���������-�&�'� ��]
J��
�������� �!/>?�
�-��
/���
���
����(�����������6�����
�����/��-���
��&�'���������$
5���

���(����400  /���
���� �%1�  �!�	�� ������ -�� ���  �!�	�� ����  ��]
J�� ������ ��� 
���� ���� ������� ���� �����6
 �!K����(��%�&�!�D?��L/�����(��6

Arti Limited issued 20,000 Equity shares of �100 each at a premium of 5%,
payable as �40 per share on application, including premium, �30, on  allotment
and Balance on first and final call. Application were received for 45,000 shares.
5,000 shares were not alloted to the applicants and pro-rata allotment was made
to the remaining applicants. Extra amount received on application were adjusted
in allotment and First & Final call respectively. All amount were received in due
time except Rama who applied for 400 shares not paid any amount except
application. Pass necessary journal entries. [6]

10 

Previous Pathshala



��

�����������
��
��  !"

�������	
SECTION - B

.^P?�9�����	���������/<�&:���������
�/�7 &K���/��$]
T��-����������������1���������������&K����������%
��
�����6

Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) �/*�%����"��� ����-����!�����"��� ���
��1��� 5�
��%.���6

Write one difference between an operating activity and an investing activity.[1]

25) 
����P?�&!����!!
#�����
���
�����������4��1���8_�K���%�.��6

Write any one objective of cash flow statement. [1]

26) �!)�����!!
#��������!K%�I#��������4��	���%���9��4��6

List any two advantages of analysing the financial statements. [2]

27) ��*��	�������G*�� ��������
������������
����;�����
��

1) ��
������%1� ����(��&�
+E������I�20,000 A�B

2) ��
������%1� ����(�� +5�
���I�15,000 A�B

3) !I������	��
�����
������%1� ����(��9�����25,000 A�B

Find out the amount of Tax paid from the following given informations:

1) Opening Balance of provision for tax �20,000.

2) Closing balance of provision for tax �15,000.

3) Provision for tax create during the year �25,000. [2]

[Turn Over
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28) ��*��	���4���G*�� ������2�#��
��� ��$��<�2�#����%��E$�)�� ��$��<�,!��
:!� ��$����-��*�%G
 ��$���;�������(��6

�

�
��� �/�$G/(�< 5,00,000

$G!���0���
� �/�$/G(� 2,00,000

��
�5���/*� 1,00,000

%��������.����`(
�a 1,20,000

2�#�$3 3,00,000

�!�!0�%��	�
 1,80,000

 	)��Q�� 60,000

&�
+E����Q�� 20,000

*�%G��E$�)� 4,00,000

Calculate Debt Equity Ratio, Debt to total Assets Ratio, Proprietory Ratio and
Current Ratio from the following details. [4]

�

Equity share capital 5,00,000

Preference share capital 2,00,000

General Reserve 1,00,000

Profit & Loss Account (Credit) 1,20,000

Debentures 3,00,000

Sundry Creditors 1,80,000

Outstanding Expenses 60,000

Preliminary Expenses 20,000

Current Assets 4,00,000

12 
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29) ��E��%�.���G*�� ������� �0�
�$
��!)������"��� ������
����P?�&!��������#�������(16
2015 2016
� �

�
��� �/�$/G(� 12,00,000 15,00,000
10% $G!���0���
� �/�$G/(� 4,00,000 4,00,000
8% 2�#�$3 2,00,000 1,00,000
9�������2�# 5,00,000 3,00,000

!I������	��
����
��� �/�$G/(������&�
+E������I�$
�20% %���/��$G!���0���
� �/�$/G(��$
�10%
%��/��<�2�#�$3���$
�8% F��(�&�
+E������I�$
�����������������6�9�������2�#�$
�54,000 A�B
����F��(�����������������6

Calculate cash flow from financing activities on the basis of following details.[4]

2015 2016

� �

Equity share capital 12,00,000 15,00,000

10% preference share capital 4,00,000 4,00,000

8% Debenture 2,00,000 1,00,000

Loan from Bank 5,00,000 3,00,000

During the year 20% Dividend was paid on  Opening Balance of Equity share,
10% Dividend was paid on preference share, 8% interest was paid on opening
balance of debenture. �54,000 interest was paid on loan from bank.

30) ��E���G*�� ��������%��:
��� ����!!
#�9��4��

31-3-2015 31-3-2016

� �

�!�"�� 3,00,000 5,00,000

�"�� 1,50,000 3,00,000

���%�%�� �!�"�������40% �!�"�������30%

&��������Q�� ���%�%�������5% ���%�%�������4%

 �����
 ��
����$G!����b�%�������40% ��
����$G!����b�%�������40%

  -!�

[Turn Over
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��E���G*�� �������
������
��*S?������
�����(��6
31-3-2015   31-3-2016

�������������������������������������������������������������������������������������

,-�����E$�)� 5,00,000 7,00,000
�!������ 2,00,000 1,00,000
*�%G��E$�)� 3,00,000 5,00,000
�
��� �/�$G/(� � 6,00,000 7,00,000
�/*��1!/� ��0�� 2,00,000 3,00,000
*�%G�	���:! 2,00,000 3,00,000

Prepare comparative income statement from the following informations: [6]
31-3-2015 31-3-2016

� �

Sales 3,00,000 5,00,000
Purchases 1,50,000 3,00,000
Gross profit 40% of sales 30% of sales
Administrative expenses 5% of Gross Profit 4% of Gross Profit
Income Tax 40% of Net Profit 40% of Net Profit

before Tax before Tax
OR

Prepare common size Balance Sheet from the following informations:         [6]
31-3-2015 31-3-2016

                                                  ��������������������������������������������

Fixed Assets 5,00,000 7,00,000
Investment 2,00,000 1,00,000
Current Assets 3,00,000 5,00,000
Equity share capital 6,00,000 7,00,000
Reserve and surplus 2,00,000 3,00,000
Current liabilities 2,00,000 3,00,000

 -!�

OR
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SECTION - B

24) ��,>?
�4�cP?� ���d/��>?����e>?!��
����������������

What is customized software? [1]

25) ,&�P?��>?����������������

What is spread sheet? [1]

26) DBMS �
��4+5>?>?�����������������

What is Entity in DBMS? [2]

27) ,&�P?��>?���������4��	���T
��1��9��4�16

Give any two capabilities of spreadsheets. [2]

28) %�.�/����
��]
$�X>?�9�������������&��"������6

What is the process of creating report in Accounting? [4]

29) ��Ef�G>?
�4�cP?� ���d�g>?��1!/�
��� %� ���d�g>?��&#�%��
�� 5�
�,$h>?�����(1�

Distinguish between Computerized Accounting and Manual Accounting System.[4]

30) %�.�/���������/	���
��P?�>?��&����g�����4���%�����!#�������(16

Explain data processing cycle with reference to Accounting. [6]

�����
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